

Konuralp Journal of Mathematics

Research Paper

Journal Homepage: www.dergipark.gov.tr/konuralpjournalmath e-ISSN: 2147-625X



On the Solutions of Some Equations in (p,q)-Calculus

Nihan Turan^{1,2*} and Metin Başarır²

¹Department of Mathematics, Faculty of Sciences and Arts, İstanbul Beykent University, İstanbul, Türkiye ²Department of Mathematics, Faculty of Sciences, Sakarya University, Sakarya, Türkiye ^{*}Corresponding author

Abstract

In this paper, we introduce the Laplace equation in (p,q)-calculus and give the solutions of the equation using the separation method into its variables. We also give the (p,q)-calculus version of the equation of motion, which expresses the displacement of a falling field in a resistant environment. Finally, we obtain the solution of the Bernoulli's equation in (p,q)-calculus.

Keywords: (*p*,*q*)-calculus, Falling Field Problem, Laplace Equation, Bernoulli's Equation 2010 Mathematics Subject Classification: 35A24, 49K15

1. Introduction

Although the *q*-calculus theory goes back to Euler in the 18 th century, it was gained to mathematics by Jackson [13] in 1910. Later, *q*-calculus was investigated by many scientists. It has various applications in different mathematical fields such as number theory, quantum theory and basic hyper-geometric functions [12, 13, 15]. It has been benefited by many researchers to solve physical problems. For example, the behavior of hydrogen atoms in terms of q-calculus was studied by the authors in [9]. The solutions of some *q*-wave and *q*-heat equations investigated by Bettaibi and Mezlini [4]. For further studies, see [6, 17, 21]. Similar to advances in *q*-calculus, the (p,q)-calculus theory developed rapidly in many disciplines such as mathematics and physics. While *q*-calculus deals with a *q*-variable, the (p,q)-calculus deals with two independent variables *p* and *q*. The (p,q)-calculus was firstly introduced in quantum algebras by the authors in [5]. Sadjang [20], systematically established the fundamental theory of (p,q)-calculus and some (p,q)-Taylor formulas. The (p,q)-analogue of Beta and Gama functions were given by Milovanovic at. al. [18]. The readers can see [11, 16, 19, 22].

Akça et al. [1] gave the solution of some partial differential equations in terms of q-calculus. One of them is the following equation

$$u_{xx} + u_{yy} + u_{zz} = 0 \tag{1.1}$$

which is known as the 3-dimensional Laplace equation. The second order partial q-derivatives of the function u; u_{xx} , u_{yy} and u_{zz} is defined in a similar way (see [1]). Ebaid et. al. [2] studied the following equation in the sense of q-calculus

$$\frac{d_q v}{d_q t} = -g - k v, (q \in (0, 1)).$$
(1.2)

which expresses the motion of a falling field in a resistive medium. In 2020, Salih and Sami [3] defined *q*-calculus version of Bernoulli's equation as follows

$$D_q y + \alpha(t) y = \beta(t) y^k \tag{1.3}$$

where $\alpha(t)$ and $\beta(t)$ are differentiable functions and $k \in \mathbb{R}$ and they solved the *q*-Bernoulli's equation obtained from the law of protection of energy which expresses that the total energy in an isolated system will not change.

The main goal of our paper is to introduce the (p,q)-Laplace equations, (p,q)-motion equations and (p,q)-Bernoulli's equations. This paper consists of five sections. In section 2, we will give some concepts and facts which will be used. In section 3, we define the (p,q)-calculus version of the three-dimensional partial differential equation which is called as the (p,q)-Laplace's equation. To solve this equation, we give definitions of second-order partial (p,q)-derivatives. Then, we solve the equation using the method of separating variables. In section 4, we define the equation of motion, called as the falling field problem, in terms of (p,q)-calculus. Assuming that the solutions of the equation are in the form of a series, we calculate the coefficients in the series. Using the calculated coefficients, we get the instantaneous velocity equation of the body. Moreover, we give the vertical distance of the body from the obtained velocity equation. In section 5, we define Bernoulli's equation in (p,q)-calculus and give the solution of the equation using the (p,q)-derivative definition.

2. Prelimineries

We remind some essential notions of (p,q)-calculus. For any number *n*, the (p,q)-like of *n* is given by

$$[n]_{p,q} = \frac{p^n - q^n}{p - q}; \quad (p \neq q.)$$

The (p,q)-factorial is defined as

$$[n]_{p,q}! := \begin{cases} [1]_{p,q} \times [2]_{p,q} \times [3]_{p,q} \times \dots \times [n]_{p,q}, & n \ge 1\\ 1, & n = 0. \end{cases}$$

The (p,q)-derivative of a function $\lambda(t)$ is given by

$$D_{p,q}\lambda(t) = \frac{\lambda(pt) - \lambda(qt)}{(p-q)t}; (t \neq 0), (p \neq q)$$
(2.1)

and $(D_{p,q}\lambda)(0) = \lambda'(0)$ provided that $\lambda(t)$ is differentiable at 0. From (2.1) we have

$$D_{p,q}t^n = [n]_{p,q}t^{n-1}.$$

Jagannathan and Rao [14] defined the (p,q)-exponential functions as

$$e_{p,q}(t) = \sum_{n=0}^{\infty} p\binom{n}{r} \frac{(t)^n}{[n]_{p,q}!}$$

and

$$E_{p,q}(t) = \sum_{n=0}^{\infty} q^{\binom{n}{r}} \frac{(t)^n}{[n]_{p,q}!}.$$

The (p,q)-derivatives of the exponential functions are given by

$$D_{p,q}e_{p,q}(t) = e_{p,q}(pt)$$

and

$$D_{p,q}E_{p,q}(t) = E_{p,q}(qt).$$

Note that the (p,q)-derivatives of exponential functions are not themselves equal, as contrary to classical calculus. Uğur et. al. [7] defined a new type of (p,q)- exponential function as

$$\tilde{e}_{p,q}(t) = \sum_{n=0}^{\infty} \frac{(t)^n}{[n]_{p,q}!}.$$

If attention is paid, it is seen that the exponential function definition made in this way is similar to the definition of the classical exponential function $e^t = \sum_{n=0}^{\infty} \frac{(t)^n}{n!}$ and the *q*-exponential function $e_q(t) = \sum_{n=0}^{\infty} \frac{(t)^n}{[n]_q!}$. Also, the (p,q)-exponential function defined in this way is more useful and it has the following derivative property

$$D_{p,q}\tilde{e}_{p,q}(t) = \tilde{e}_{p,q}(t).$$

It is known that there is a connection of the definitions of derivative and definite integral in classical analysis. The connection between the mentioned concepts is given by the fundamental theorem of calculus, also called the Newton's-Leibniz formula. The q-calculus version of the fundamental theorem of calculus was given by Kac and Pokman [15]. Analogously to the ordinary and the q-case, the following foundational theorem was given by Sadjang [20].

Theorem 2.1. [20] If $\Lambda(t)$ is an anti-derivative of $\lambda(t)$ and $\Lambda(t)$ is continuous at t = 0, we have

$$\int_{c}^{d} \lambda(t) d_{p,q} t = \Lambda(d) - \Lambda(c)$$

where $0 < c < d < \infty$.

Corollary 2.2. [20] If $\lambda'(t)$ exists in a neighborhood of t = 0 and is continuous at t = 0, we have

$$\int_{c}^{d} D_{p,q} \lambda(t) d_{p,q} t = \lambda(d) - \lambda(c)$$

where $\lambda'(t)$ denotes the ordinary derivative of $\lambda(t)$.

3. The (p,q)-Laplace Equation

Imagine the following second-order three dimensional partial (p,q)-differential equation ((p,q)-Laplace Equation);

$$\frac{\partial^2 u}{\partial x^2} + \frac{\partial^2 u}{\partial y^2} + \frac{\partial^2 u}{\partial z^2} = 0.$$
(3.1)

Following the notation and definition from Akça [1], we define the second-order partial (p,q)-derivatives of u(x,y,z) function:

$$\frac{\partial^{2} u}{\partial x^{2}} = \frac{\frac{u(p^{2}x,y,z) - u(pqx,y,z)}{(p-q)px} - \frac{u(pqx,y,z) - u(q^{2}x,y,z)}{(p-q)qx}}{(p-q)qx}}{(p-q)x} \\
\frac{\partial^{2} u}{\partial y^{2}} = \frac{\frac{u(x,p^{2}y,z) - u(x,pqy,z)}{(p-q)py} - \frac{u(x,pqy,z) - u(x,q^{2}y,z)}{(p-q)qy}}{(p-q)y}}{(p-q)y} \\
\frac{\partial^{2} u}{\partial z^{2}} = \frac{\frac{u(x,y,p^{2}z) - u(x,y,pqz)}{(p-q)pz} - \frac{u(x,y,pqz) - u(x,y,q^{2}z)}{(p-q)qz}}{(p-q)z}.$$
(3.2)

Substituting partial (p,q)-derivatives defined at (3.2) in (3.1), we obtain

$$y^{2}z^{2}[qu(p^{2}x,y,z) - (p+q)u(pqx,y,z) + pu(q^{2}x,y,z)] + x^{2}z^{2}[qu(x,p^{2}y,z) - (p+q)u(x,pqy,z) + pu(x,q^{2}y,z)] + x^{2}y^{2}[qu(x,y,p^{2}z) - (p+q)u(x,pqy,z) + pu(x,q^{2}y,z)] = 0.$$
(3.3)

By rearranging and simplifying equation (3.3), we get

$$q[y^{2}z^{2}u(p^{2}x,y,z) + x^{2}z^{2}u(x,p^{2}y,z) + x^{2}y^{2}u(x,y,p^{2}z)] - (p+q)[y^{2}z^{2}u(pqx,y,z) + x^{2}z^{2}u(x,pqy,z) + x^{2}y^{2}u(x,y,pqz)] + p[y^{2}z^{2}u(q^{2}x,y,z) + x^{2}z^{2}u(x,q^{2}y,z) + x^{2}y^{2}u(x,y,q^{2}z)] = 0.$$
(3.4)

Using the method of separation of variables, we will suppose that

$$\begin{split} u(x,y,z) &= \lambda(x)\mu(y)\sigma(z) \\ u(p^2x,y,z) &= \lambda(p^2x)\mu(y)\sigma(z) \\ u(x,p^2y,z) &= \lambda(x)\mu(p^2y)\sigma(z) \\ u(x,y,p^2z) &= \lambda(x)\mu(y)\sigma(p^2z) \\ u(pqx,y,z) &= \lambda(x)\mu(y)\sigma(z) \\ u(x,y,pqz) &= \lambda(x)\mu(pqy)\sigma(z) \\ u(x,y,pqz) &= \lambda(x)\mu(y)\sigma(pqz) \\ u(q^2x,y,z) &= \lambda(q^2x)\mu(y)\sigma(z) \\ u(x,q^2y,z) &= \lambda(x)\mu(q^2y)\sigma(z) \\ u(x,y,q^2z) &= \lambda(x)\mu(y)\sigma(q^2z). \end{split}$$

If we substitute these in (3.4) then we obtain

$$\begin{split} q[y^2z^2\lambda(p^2x)\mu(y)\sigma(z) + x^2z^2\lambda(x)\mu(p^2y)\sigma(z) + x^2y^2\lambda(x)\mu(y)\sigma(p^2z)] - (p+q) \\ [y^2z^2\lambda(pqx)\mu(y)\sigma(z) + x^2z^2\lambda(x)\mu(pqy)\sigma(z) + x^2y^2\lambda(x)\mu(y)\sigma(pqz)] \\ + p[y^2z^2\lambda(q^2x)\mu(y)\sigma(z) + x^2z^2\lambda(x)\mu(q^2y)\sigma(z) + x^2y^2\lambda(x)\mu(y)\sigma(q^2z)] = 0. \end{split}$$

Now divide each term by $\lambda(x)\mu(y)\sigma(z)$, the equality takes the form

$$q\left[\frac{\lambda(p^2x)}{x^2\lambda(x)} + \frac{\mu(p^2y)}{y^2\mu(y)} + \frac{\sigma(p^2z)}{z^2\sigma(z)}\right] - (p+q)\left[\frac{\lambda(pqx)}{x^2\lambda(x)} + \frac{\mu(pqy)}{y^2\mu(y)} + \frac{\sigma(pqz)}{z^2\sigma(z)}\right] + p\left[\frac{\lambda(q^2x)}{x^2\lambda(x)} + \frac{\mu(q^2y)}{y^2\mu(y)} + \frac{\sigma(q^2z)}{z^2\sigma(z)}\right] = 0.$$
(3.5)

Using the method in [1], let

$$\begin{split} \lambda(x) &= \alpha^{\log_p qx} \\ \lambda(px) &= \alpha \alpha^{\log_p qx} = \alpha \lambda(x) \\ \lambda(px) &= \alpha^{\log_p px} \lambda(x) \\ \lambda(pqx) &= \alpha^{\log_p pq} \lambda(x) \\ \lambda(q^2x) &= \alpha^{\log_p q^2} \alpha^{\log_p qx} = \alpha^{2\log_p q} \lambda(x) \\ \mu(y) &= \alpha^{\log_p qy} \\ \mu(py) &= \alpha \alpha^{\log_p qy} = \alpha \mu(y) \\ \mu(pqy) &= \alpha^{\log_p qy} \mu(y) \\ \mu(q^2y) &= \alpha^{\log_p pq} \mu(y) \\ \mu(q^2y) &= \alpha^{\log_p q^2} \alpha^{\log_p qy} = \alpha^{2\log_p q} \mu(y) \\ \sigma(z) &= \alpha^{\log_p qz} \\ \sigma(pz) &= \alpha \alpha^{\log_p qz} = \alpha \sigma(z) \\ \sigma(pqz) &= \alpha^{\log_p pq} \sigma(z) \\ \sigma(q^2z) &= \alpha^{\log_p q^2} \alpha^{\log_p qz} = \alpha^{2\log_p q} \sigma(z). \end{split}$$

Substituting these equalities in (3.5), we obtain the characteristic equation

$$q\alpha^2 - (p+q)\alpha\alpha^{\log_p q} + p\alpha^{2\log_p q} = 0.$$
(3.6)

Note that the characteristic equation obtained is different from that obtained in *q*-calculus (compare with [1]). Roots of (3.6) are $\alpha_1 = p$ and $\alpha_2 = 1$. In this case the solutions are

$$\beta(x, y, z) = c_1 p^{\log_p qx} + c_2 p^{\log_p qy} + c_3 p^{\log_p qz}$$
$$\gamma(x, y, z) = c_1 + c_2 + c_3.$$

4. The Falling Field Problem

Imagine that the body with a mass *m* is falling from a height of *h* from ground height first velocity v_0 . The falling equation of the field in the ordinary sense is defined by

$$m\frac{d\upsilon}{dt} = -mg - mk\upsilon, \tag{4.1}$$

with a non-negative fixed number k, [8, 10]. The beginning conditions are as follows

$$\begin{cases} v(0) = v_0 \\ x(0) = h \end{cases}$$
(4.2)

where x(t) is the ground clearance at time *t* and its $\frac{dx(t)}{dt} = v(t)$ velocity at time *t*. We define the equation of motion (4.1) in the (p,q)-calculus sense as follows

$$\frac{d_{p,q}\upsilon}{d_{p,q}t} = -g - k\upsilon; \quad (p,q \in (0,1)).$$

$$(4.3)$$

We accept that the solution of equation (4.3) is in form of the series:

$$\upsilon(t) = \sum_{n=0}^{\infty} c_n t^n.$$
(4.4)

From (4.3) and (4.4), we have the following equation

$$\frac{d_{p,q}\boldsymbol{\upsilon}}{d_{p,q}t} = \sum_{n=1}^{\infty} [n]_{p,q} c_n t^{n-1}$$
$$= \sum_{n=0}^{\infty} [n+1]_{p,q} c_{n+1} t^n$$

where $[0]_{p,q} = 0$. If we substitute $\frac{d_{p,q}v}{d_{p,q}t}$ and v(t) in (4.3), we get

$$\sum_{n=0}^{\infty} [n+1]_{p,q} c_{n+1} t^n = -g - k \sum_{n=0}^{\infty} c_n t^n$$

and

$$[1]_{p,q}c_1 + \sum_{n=1}^{\infty} [n+1]_{p,q}c_{n+1}t^n = -g - kc_0 - k\sum_{n=1}^{\infty} c_n t^n$$

which gives

 $c_{1} = \frac{-g - kc_{0}}{[1]_{p,q}}$ $c_{n+1} = \frac{-kc_{n}}{[n+1]_{p,q}}, \quad n \ge 1.$ (4.5)

From (4.5), we have

$$c_{2} = \frac{-kc_{1}}{[2]_{p,q}} = \frac{(-1)^{2}kg + (-k)^{2}c_{0}}{[1]_{p,q}[2]_{p,q}}$$

$$c_{3} = \frac{-kc_{2}}{[3]_{p,q}} = \frac{(-1)^{3}k^{2}g + (-k)^{3}c_{0}}{[1]_{p,q}[2]_{p,q}[3]_{p,q}}$$

$$c_{4} = \frac{-kc_{3}}{[4]_{p,q}} = \frac{(-1)^{4}k^{3}g + (-k)^{4}c_{0}}{[1]_{p,q}[2]_{p,q}[3]_{p,q}[4]_{p,q}}$$

$$\vdots$$

$$c_{n} = \frac{-kc_{n-1}}{[n]_{p,q}} = \frac{(-1)^{n}k^{n-1}g + (-k)^{n}c_{0}}{[1]_{p,q}[2]_{p,q}[3]_{p,q}...[n]_{p,q}}, \quad n \ge 1$$

Taking advantage of the fact that we can express the *n*-term coefficient (p,q)-factorially, we get

$$c_n = \frac{(-1)^n k^{n-1} g + (-k)^n c_0}{[n]_{p,q}!}, \quad n \ge 1.$$
(4.6)

Using (4.4) and (4.6), we obtain the momentary velocity as

$$\begin{split} \mathfrak{v}(t) &= c_0 + \sum_{n=1}^{\infty} c_n t^n \\ &= c_0 + \sum_{n=1}^{\infty} \left[\frac{k^{n-1}g(-1)^n + (-k)^n c_0}{[n]_{p,q}!} \right] t^n \\ &= c_0 + \sum_{n=1}^{\infty} \left[\frac{(g/k)(-kt)^n + (-kt)^n c_0}{[n]_{p,q}!} \right]. \end{split}$$

When the instantaneous velocity obtained is regulated, we have

$$\upsilon(t) = c_0 + (\frac{g}{k} + c_0) \sum_{n=1}^{\infty} \frac{(-kt)^n}{[n]_{p,q}!}$$

By rewriting the instantaneous velocity in terms of the $e_{p,q}(-kt)$, we get

$$v(t) = c_0 + (\frac{g}{k} + c_0)[e_{p,q}(-kt) - 1].$$

Using the first initial condition in (4.2), we get $v_0 = c_0$ and hence v(t) occurs

$$\upsilon(t) = c_0 + (\frac{g}{k} + \upsilon_0)[e_{p,q}(-kt) - 1].$$
(4.7)

If we rearrange (4.7), we obtain instantaneous velocity as

$$\upsilon(t) = -\frac{g}{k} + (\frac{g}{k} + \upsilon_0)e_{p,q}(-kt).$$
(4.8)

Since the velocity of the body is the change of its vertical height x(t) with respect to time, we can rewrite equation (4.8) as

$$D_{p,q}x(t) = -\frac{g}{k} + (\frac{g}{k} + v_0)e_{p,q}(-kt).$$
(4.9)

Integrating (4.9), we get

$$\int_0^t D_{p,q} x(s) d_{p,q} s = \int_0^t (-\frac{g}{k}) d_{p,q} s + (\frac{g}{k} + v_0) \int_0^t e_{p,q} (-ks) d_{p,q} s$$

and therefore,

$$x(t) - x(0) = -\frac{g}{k} [s]_0^t + (\frac{g}{k} + v_0) \left[-\frac{e_{p,q}(-ks)}{k} \right]_0^t$$

or

$$x(t) = h - \frac{gt}{k} + (\frac{g}{k} + v_0)(-\frac{e_{p,q}(-kt)}{k} + \frac{1}{k})$$

that is;

$$x(t) = h - \frac{gt}{k} + \frac{1}{k} (\frac{g}{k} + v_0) (1 - e_{p,q}(-kt)).$$
(4.10)

Finally, (4.8) and (4.10) are exact solutions of the falling field problem and these solutions are as in ordinary Newtonian mechanics when $q \rightarrow 1 = p$.

5. The (p,q)-Bernoulli's Equation

We define the (p,q)-like of the Bernoulli's equation as follows :

$$D_{p,q}y(t) + \alpha(t)y(t) = \beta(t)y^k(t); (k \in \mathbb{R}).$$
(5.1)

Theorem 5.1. The solution of the (p,q)-Bernoulli's difference equation is as follows

$$y(t) = y((\frac{q}{p})^{j}t) + \sum_{i=1}^{j} \frac{q^{i-1}}{p^{i}} t(p-q) [-\alpha(\frac{q^{i-1}}{p^{i}}t)y(\frac{q^{i-1}}{p^{i}}t) + \beta(\frac{q^{i-1}}{p^{i}}t)y^{k}(\frac{q^{i-1}}{p^{i}}t)]$$

where for 0 < q < p < 1 and $p \neq q$.

Proof. If we use the (2.1) to solve the equation (5.1), we get the following equality

$$\frac{y(pt) - y(qt)}{(p-q)t} = -\alpha(t)y(t) + \beta(t)y^k(t)$$

$$\begin{split} y(pt) - y(qt) &= -t(p-q)\alpha(t)y(t) + t(p-q)\beta(t)y^{k}(t) \\ y(t) - y(\frac{qt}{p}) &= -\frac{t}{p}(p-q)\alpha(\frac{t}{p})y(\frac{t}{p}) + \frac{t}{p}(p-q)\beta(\frac{t}{p})y^{k}(\frac{t}{p}) \\ y(\frac{qt}{p}) - y((\frac{q}{p})^{2}t) &= -\frac{qt}{p^{2}}(p-q)\alpha(\frac{qt}{p^{2}})y(\frac{qt}{p^{2}}) + \frac{qt}{p^{2}}(p-q)\beta(\frac{qt}{p^{2}})y^{k}(\frac{qt}{p^{2}}) \\ y((\frac{q}{p})^{2}t) - y((\frac{q}{p})^{3}t) &= -\frac{q^{2}t}{p^{3}}(p-q)\alpha(\frac{q^{2}t}{p^{3}})y(\frac{q^{2}t}{p^{3}}) + \frac{q^{2}t}{p^{3}}(p-q)\beta(\frac{q^{2}t}{p^{3}})y^{k}(\frac{q^{2}t}{p^{3}}) \\ y((\frac{q}{p})^{3}t) - y((\frac{q}{p})^{4}t) &= -\frac{q^{3}t}{p^{4}}(p-q)\alpha(\frac{q^{3}t}{p^{4}})y(\frac{q^{3}t}{p^{4}}) + \frac{q^{3}t}{p^{4}}(p-q)\beta(\frac{q^{3}t}{p^{4}})y^{k}(\frac{q^{3}t}{p^{4}}) \\ \vdots \\ y((\frac{q}{p})^{j-1}t) - y((\frac{q}{p})^{j}t) &= -\frac{q^{j-1}t}{p^{j}}(p-q)\alpha(\frac{q^{j-1}t}{p^{j}})y(\frac{q^{j-1}t}{p^{j}}) + \frac{q^{j-1}t}{p^{j}}(p-q)\beta(\frac{q^{j-1}t}{p^{j}})y^{k}(\frac{q^{j-1}t}{p^{j}}). \end{split}$$

Finally, if these equalities are additived side by side,

$$y(t) - y((\frac{q}{p})^{j}t) = \sum_{i=1}^{j} \frac{q^{i-1}}{p^{i}} t(p-q) [-\alpha(\frac{q^{i-1}}{p^{i}}t)y(\frac{q^{i-1}}{p^{i}}t) + \beta(\frac{q^{i-1}}{p^{i}}t)y^{k}(\frac{q^{i-1}}{p^{i}}t)]$$

and therefore

$$y(t) = y((\frac{q}{p})^{j}t) + \sum_{i=1}^{j} \frac{q^{i-1}}{p^{i}} t(p-q) \left[-\alpha(\frac{q^{i-1}}{p^{i}}t)y(\frac{q^{i-1}}{p^{i}}t) + \beta(\frac{q^{i-1}}{p^{i}}t)y^{k}(\frac{q^{i-1}}{p^{i}}t)\right]$$

is obtained.

For p = 1, equation reduces to the *q*-analogue Bernoulli's equation (see[3]).

Remark 5.2. If we take $j \rightarrow \infty$, then we obtain that:

$$y(t) = y(0) + \sum_{i=1}^{\infty} \frac{q^{i-1}}{p^i} t(p-q) \left[-\alpha(\frac{q^{i-1}}{p^i}t)y(\frac{q^{i-1}}{p^i}t) + \beta(\frac{q^{i-1}}{p^i}t)y^k(\frac{q^{i-1}}{p^i}t)\right].$$

6. Conclusion

In this article, the (p,q)-calculus theory has been used to solve the fallen field problem. The explicit solutions for the (p,q)-momentary velocity and the (p,q)-vertical path have been deduced. The deduced explicit solutions are denoted in nominal of the (p,q)-exponential function. Also (p,q)-calculus is applied for the Laplace equation and the equation is solved. Finally, the solution of Bernoulli's equation has been given in the (p,q)-calculus.

Article Information

Acknowledgements: The authors would like to express their sincere thanks to the editor and the anonymous reviewers for their helpful comments and suggestions.

Author's contributions: All authors contributed equally to the writing of this paper. All authors read and approved the final manuscript.

Conflict of Interest Disclosure: No potential conflict of interest was declared by the author.

Copyright Statement: Authors own the copyright of their work published in the journal and their work is published under the CC BY-NC 4.0 license.

Supporting/Supporting Organizations: No grants were received from any public, private or non-profit organizations for this research.

Ethical Approval and Participant Consent: It is declared that during the preparation process of this study, scientific and ethical principles were followed and all the studies benefited from are stated in the bibliography.

Plagiarism Statement: This article was scanned by the plagiarism program. No plagiarism detected.

Availability of data and materials: Not applicable

References

- [1] H. Akça, J. Benbourenane H. Eleuch, The q-derivative and differential equation, J. Phys. Conf. Ser., (2019), 1411:012002.
- A. M. Álanazi, A. Ebaid, W. M. Alhawiti and G. Muhiuddin, The falling body problem in quantum calculus, Front. Phys., 8(43)(2020).
- [3] S. Y. Arbab and S. H. Altoum, q-Bernoulli's Equation, Am. J. Appl. Sci., 17(1)(2020), 214-217.
- [4] N. Bettaibi and K. Mezlini, On the use Of the q-Mellin transform to solve some q-heat and q-wave equations, Int. J. Math. Arch., 3(2)(2012), 446-455.
- [5] R. Chakrabarti and R. Jagannathan, A (p,q)-oscillator realization of two parameter quantum algebras, J. Phys. A: Math. Gen., 24(13)(1991), 5683-5701.
- [6] H. Cheng, Canonical Quantization of Yang-Mills Theories, Perspectives in Mathematical Physics, International Press, Somerville, MA, USA, 1996.
- [7] U. Duran, S. Aracı, and M. Açıkgöz, A Study on Some New Results Arising from (p,q)-Calculus, TWMS J. Pure Appl. Math., 11(1)(2020), 57-71.
- [8] A. Ebaid, B. Masaedeh, E. El-Zahar, A new fractional model for the falling body problem, Chin. Phys. Lett., 34(2)(2017), 020201.
- [9] R. Floreanini and L. Vinet, q-gamma and q-beta functions in quantum algebra representation theory, J. Comput. Appl. Math., 68(1-2)(1996), 57–68. [10] J.J.R. Garcia, M.G. Calderon, J.M. Ortiz, D. Baleanu, Motion of a particle in a resisting medium using fractional calculus approach, Proc. Roman Acad Ser A., 14(1)(2013), 42-47.
- [11] İ. Gençtürk, Boundary value problems for a second-order (p,q)-difference equation with integral conditions, Turk. J. Math., 46(2)(2022), 499-515.
- [12] G.H. Hardy and E.M. Wright, An Introduction to the Theory of Numbers, Oxford University Press, 1960.
- [13] F.H. Jackson, q-Diference Equations, American J. Math., 32(4)(1910), 305-314.
- [14] R. Jagannathan, and K.S. Rao, Two-parameter quantum algebras, twin basic numbers and associated generalized hypergeometric series, In Proceeding of the International Conference on Number Theory and Mathematical Physics, Srinivasa Ramanujan Centre, Kumbakonam, India (2005). [15] V. Kac and C. Pokman, Quantum Calculus, Springer, 2002.
- [16] N. Kamsrisuk, C. Promsakon, S.K. Ntouyas, J. Tariboon, Nonlocal boundary value problems for (p,q)-difference equations, Differ. Equ. Appl., 10(2)(2018), 183-195. [17] G. Kaniadakis, A. Lavagno, and P. Quarati, Kinetic model for *q*-deformed bosons and fermions, Phys. Lett. A, 227(3)(1997), 227-231.
- [18] G.V. Milovanovic, V. Gupta, N. Malik, (p,q)-Beta functions and applications in approximation, Bol. Soc. Mat. Mex., 24(1)(2018), 219-237.
- [19] M. Mursaleen, M. Nasiruzzaman, A. Khan, K.J. Ansari, Some approximation results on Bleimann Butzer Hahn operators defined by (p,q)-integers, Filomat, 30(3)(2016), 639-648.
- [20] P.N. Sadjang, On the fundamental theorem of (p,q)-calculus and some (p,q)-Taylor formulas, Result. Math., 73(1)(2018), 1-21.
- [21] W. J. Trjitzinsky, Analytic theory of linear *q*-difference equations, Act. Math., 62(1)(1933), 167–226.
 [22] N. Turan and M. Başarır, The Solutions of Motion, Laplace And Bernoulli's Equations in q-Calculus, 9th International Zeugma Conference On Scientific Research, February 19-21, 2023 / Gaziantep, Türkiye, full text book, page 144-151, ISBN:978-625-6404-76-2.